[image: image1.jpg]{4 .‘

«) W)+ S ) vl s ilte)=p
 ofecic vaemue gt ppiatctins opeafeolo
Lot catese => nepeipeie K egofpaipepciesac | Ayomb

) = V(#) 2y madeuge grsscscatof-gobop it |

3t = L 2 pmegpanst D e T |

= 3
e > OB E CYLR)= gte)= BN
FUE)Z OOV - Pate) - 9ite) = 1Y) = noG e

e e h J_’__ o e
PYe)+ SYF) = _§ - e T ) ke

= (@el)P e(c-36)ptse-3c=1 <>

= s=l, c=3l=> ~5C-5E-F, =
=>
S e e
Sec-30=4 = €=—sp =
=y e P 3 G
Ve 23 'r% Fur kS

ceee!
w3 eyt /unzu}r,r{..m/>uj.u,«x-?l‘('ﬂec(( cen

s =] ﬁ i
ézf?';l,;)mfi"- %})Stwﬁf’;m—_>
25 ik sk a/£)~ Yir) => Eor

t,(,rf,éﬁsmrf





[image: image2.jpg]& 57 -Q’f?.a)/ Gl HO

L E(P) - g*'”“

+g‘ _ELE_PZ{[ = _»1

_(e ~ﬁ1) _L/L/,

E ) - [/g‘)/’

:{305,\(';‘}&'4’;««.,& e

e 2 ‘

1) e = ()
o

e-f'f/:

-(,

4 .L IS

Bt —30’) =
5/’

e f()‘hﬁ_g
E




[image: image3.jpg]e
(P2 (D)%27

Gpac ceatiol — (v;cﬁﬁffw‘ ﬁ

PPN g
* ()t

B T s §

€ et oyt =

=> nho mgc/\“:c;, /%/‘easr, L y“a»,mr_za
) =Fle) =5 g )2

T /X(/V—sffc—s e ) z-!)i =
e A,‘,’Z,L/*, ;»mfu‘) e ot

b 1)< € (sin 4t ecettbt)
<

noLy Tl |

A

schzt = o -4t




